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Entry 2: Multiply numbers in the range of 0x0 to 

12x12 Answers 

1.  18 

2.  11x12=132 

3.                               5 x 1 0 = 50 

                                 4 x 8 = 32 

 6 x 6 = 36 

4.                                     6 x 4 = 4 x 6 correct 

    1 x 5 = 1 wrong 

    5 x 0 = 5 wrong 

            6 lots 4 is the same as 4 lots of 6. One £5 note is equal  

ttttttttto £5, not 0 pounds. £5 lots of 0 pounds, make 0  

ttttttttpounds. 

5.   6x4 or 4x6 or 1x24 or 24x1 or 2x12 or 12x2 

 


